6 fEEW (1%B5) (FM553AKREME)
(1) =T HHHI|BEW _
X4 SM5 5 SMasE BEH B E (%)
B | EEY | BEY | 4% | EEHR | EFEN | 4% | ®mER | EFER #E SEHE BEHK
2 = 521 9 566 500 12 542 21 -3 24 4.2 —25.0 4.4
T EE 4 1 5 1 4 -1 -1 3| —20.0 ~100. 0 75.0
[#RE = (%) 0.8 1.2 1.0 8.3 0.7
FOMCESERIE 1 UHAERE (BFEHE tE&8. ) Lt D, SREHYDERIZLIEREER (LITHELC, )
O HIELLR, BHBIEML N, BEHBRUEERITHEL L=,
(2) FfEIRIFEERR
5 5
(N) n A ()
3) 3
2 -
L - / 1
0 *— -o L L L 0
0~2 2~4 4~6 6~8 8~10 10~12 12~14 14~16 16~18 18~20 20~22 22~24
EEEEE AF R 0 0 0 0 0 0 0 0 0 0 0 0
—— ¥4 1 0 0 0 0 1 0 0 0 0 0 2
O ABHE#IE. BR 0B~28) &481 (10~128) &7/ (228 ~24EF) OBMEIZRELTLS,
(3) EMEKANFELERR _
K4 M54 M4 4E R HEE (%)

_ _ | EEY | BES | H8 | EEH | SES | 48 | RES | #ER ## EEH FEH
EXEXEX: 4 7 5 1 4 -1 -1 3 —20.0 —100. 0 75.0
5 E B 1 1 2 2 -1 — —50.0 —50.0
= T D i
= s 1 1 2 2 -1 -1 —50.0 —50.0

C[BEE (%) 25.0 14.3]  40.0 50.0
TERME 1 2 1 1 1 100. 0
A - 7
E # = 2 4 2 1 1 -1 3 —100.0 | 300.0
(4) EHEHRUNRERR ~

X4 M54 M4 R HEE (%)

_ _ | EEY | BES | H8 | EEH | #ES | 48 | RES | #ER ## EEH ZEH
R E £ = i 4 7 5 1 4 -1 -1 3 —20.0 —100. 0 75.0
A XN B || 1 1 1 —1 [ -100.0 —100. 0
EEEFEN

IE @i 1 2 1 2
E| B = 2 4 1 1 1 3 100. 0 300.0
Wm{HEWE 1 1 1 1
| A5 E 1 1 -1 -1
El 2z ot

s 4 7 2 2 2 5 100. 0 250.0
E om B B 2 1 1 -2 -1 -1 | -100.0 —100.0 | -100.0
51 =
() HEERFEKR _
K4 M54 M4 R HEE (%)

_ _ LUEEN EEY | GEY (LUTEY REY | GEN |LUFEY FER | FER | UEEH | REH FEH
R E £ = i 4 7 5 1 4 -1 -1 3 —20.0 —100. 0 75.0
E 3 ES
= [ Eo
Z [} it 4 7 5 1 4 -1 1 3 —20.0 —100. 0 75.0
(6) HEEFBRAURERKR

R4 S5 HE SHaE ERR ERE (%)

_ _ LUEEN AN | GEY (LUTEY REY | GEN |LUFEYN FER | AR | UEEH | REH ZEH
R E £ = i 4 7 5 1 4 -1 -1 3 —20.0 —100.0 75.0
B B B 4 7 ] ] 3 75.0
= L] =
] [ B 1 1 -1 -1 ~100. 0 —100. 0




